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QUESTION 1

(2) On January 1, Nonhlanhla Bhembe sold one April S&P 500 index futures contract at a futures
price of E1,300. If the April futures price is E1,250 on February 1, what would be your profit if
you close your position? (The contract multiplier is 250) (2 marks)

(b) The current level of the S&P 500 is E1,250. The dividend yield on the S&P 500 is 3%. The
risk-free interest rate is 6%. What should be the futures price quote for a contract on the S&P
500 due to expire 6 months from now? (2 marks)

(c) A one year gold futures contract is selling for E641. Spot gold prices are E600 and the one
year risk free rate is 6%. What is the arbitrage profit implied by these prices? (2 marks)

(d) Sihle Dikiza purchased an interest rate futures contract that has an initial margin requirement
of 15% and a futures price of E115,098. The contract has 4 E100,000 underlying par value bond.
If the futures price falls to E108,000, what percent loss on her money invested will she
experience? (2 marks)

(e A convertible bond has a par value of E1,000 but its current market price is E975. The
current price of the issuing company’s stock is E26 and the conversion ratio is 34 shares. What is
the bond’s market conversion value? (2 marks)

(f) Nonophile Dine has purchased a Treasury bond that will pay E10,000 to her newborn child in
15 years. If this bond is discounted at a rate of 3.875% per year, what is today’s price (present
value) for this bond? (2 marks)

(g) Ayanda Dlamini’s parents plan to spend E20,000 on a car for him upon graduation from
college. If he will graduate in three years and his parents can earn 4.125% annually on their
investment, how much money must they set aside today for his car? (2 marks)

(h) Bongumenzi Dlamini intends to buy a vacation home in seven years and plans to have saved
E50,000 for a down payment. How much money would he have to place today into an
investment that earns 8% per year to have enough for his desired down payment? (2 marks)

(i) A cou gon bond which pays interest of E60 annually, has a par value of E1,000, matures in 5
years, and is selling today at a E84. 52 discount from par value. What is the approxunate yield to
maturity on this bond? (2 marks)

() A callable bond pays annual interest of E60, has a par value of E1,000, matures in 20 years
but is callable in 10 years at a price of E1,100, ‘and has a value today of Ei ,055.84. What 1s the
yield to call on this bond? (2 marks)
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(k) A coupon bond which pays interest semi-annually has a par value of E1,000, matures in 8
years, and has a yield to maturity of 6%. If the coupon rate is 7%, what is the intrinsic value of
the bond today? ‘ (2 marks)

(1) Gewalisile Dlamini purchased a 5-year annual interest coupon bond one year ago. Its coupon
interest rate was 6% and its par value was E1,000. At the time she purchased the bond, the yield
to maturity was 4%. If she sold the bond after receiving the first intereztayaymem and the bond’s

ield to maturity had changed to 3%, what would have been her annual total rate of return on
olding the bond for that year? (3 marks)

(Question 1 - Total marks : 25)
QUESTION 2

(a) Briefly describe the two major markets for the sale of stock. (2 marks)

(b) Part of the negotiation with the investment banker during the selection process has to do with
how the investment banker will be compensated for taking the company public. Briefly describe
these two standard compensation packages. » (3 marks)

(c) Distinguish between a bull market and a bear market. (2 marks)

(d) Most companies do not have the resident expertise to complete an initial public offering
(TPO), so they hire an investment banker to help accomplish the sale. Describe three significant

tasks that an investment banker provides. (3 marks)
(e) A T-bill quote sheet has 90 day T-bill quotes with a 4.92 bid and a 4.86 ask. If the bill has a
E10,000 face value an investor could buy this bill for how much? (2 marks)
(f) Mciniseli Dlamini buys a T-bill at a bank discount quote of 4.80 with 150 days to maturity.
What is his actual annual rate of return on this investment? (2 marks)
(g) Explain the need for a firewall between underwriters and analysts. (2 marks)

(Question 2 - Total marks : 16)

UESTION 3

(a) Finance functions in a Mo-pérameter world of risk and return. Define risk and return in a
financial sense and discuss how these two concepts are “joined at the hip.” (2 marks)

(b) Find the variance for a security that has three one-year returns of 5%, 10%, and 15%.
(2 marks)

(c) Mduduzi Dlamini bought a share of stock for E47.50 that paid a dividend of E0.72 and sold
one year later for E51.38. What was Mduduzi’s dollar profit or loss and holding period return?

(2 marks)
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(d) Ncobile Dlamini purchased Sethu Industries Inc. stock for E14.65 and sold it 6 months later
for E17.38 after receiving a E0.25 dividend. What was Alice’s holding period return (HPR),
Annual Percentage Rate (APR), and Effective Annual Rate (EAR)? (3 marks)

(e) Njabuliso Dlamini is considering buying a share of stock in a firm that has the following two
possible payoffs with the corresponding probability of occurring. The stock has a purchase price
of E15.00. She forecasts that there is a 30% chance that the stock will sell for E30.00 at the end
of one year. The alternative expectation is that there is a 70% chance that the stock will sell for
E10.00 at the end of one year. What is the expected percentage return on this stock, and what is
the return variance? (3 marks)

(f) Nompumelelo Dlamini is considering an investment in Chonta Inc. and has gathered the
information in the following table. What is the expected standard deviation for a share of the
firm’s stock?

Conditional Expected Return
State of the Economy | Probability of the State - Vandelay Inc.
Recession 25 -20%
Steady .60 10%
Boom A5 35

(3 marks)
(g) Sihle Dlamini has two investment opportunities. She can invest in The Sunglasses Company
or The Umbrella Company.

State of the Probability of the Expected Return Expected Return
Economy State Sunglasses Company | Umbrella Company
Sunny .50 25% 0%
Rainy .50 0% 25%

5

(i) What is the expected return and standard deviation of each company? (3 marks)

(ii) If she diversifies her investment by putting 50% of her money into each company, what is the
expected return and standard deviation of her portfolio? (1 mark)
(h) Define diversification. What are the benefits to diversification? (2 marks)

(i) For purposes -of diversification, what type of correlation coefficient among asset returns is
preferred by investors? Explain why. (2 marks)

() Define the terms systematic risk and unsystematic risk. Be sure to explain the difference
between the two. Which type of risk can be diversified away? (3 marks)
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(k) Thandeka Dlamini owns the following portfolio of securities. What is the beta for the
portfolio?

Company Beta Percent of Portfolio
Apple .82 50%
Ford 2.53 30%
Federal Express 1.67 20%

(2 marks)
(1) Assume the following information about the market and ThuxMasters’ stock. ThuxMasters’
beta = 1.50, the risk-free rate is 3.50%, the market risk premium is 10.0%. Using the SML, what
is the expected return for ThuxMasters’ stock? (2 marks)

(m) Both assets Nokwanda and Nokulinda plot on the SML. Asset Nokwanda has an expected

return of 15% and a beta of 1.7. Asset Nokulinda has an expected return of 12% and a beta of
1.1

Ld

(i) What is the slope of the security market line?

(ii) What is the risk-free rate of return?

(iii) What is the expected return on the market portfolio?

(2 marks)
(2 marks)

(2 marks)

(n) Assume that both Stock Mandela and Stock Nonduduzo plot on the SML.. Mandela has a beta
of 2.6 and an expected return of 21.2%. Nonduduzo has a beta of 0.90 and an expected return of
9.3%. The expected return on the market portfolio is 10% and the risk-free rate is 3%. If you
wish to hold a portfolio consisting of Mandela and Nonduduzo and have a portfolio beta equal to

1.5, what proportion of the portfolio must be in Mandela? What is the expected return on the
portfolio?

Mandela Nonduduzo | Market Portfolio | Risk-free Asset
Beta 2.6 0.9 1.0 0.0
Expected Return] 21.2% 9.3% 10.0% 3.0%
(4 marks)
(Question 3 - Total marks : 40)
UESTION 4

Questions (a) — (c) are based on Table 14.1, use it to answer these questions:
(a) (i) Suppose Siphiwa Gama buys 50 January 30 call contracts, how much do these contracts

cost him? (3 marks)
(ii) Suppose AAPL has risen to ES0 per share, would he exercise the option? (2 marks)
(ii1) Is the call option in the money or out of the money? (2 marks)
(iv) What is the value of his options? (2 marks)
(v) How much is his net profit/loss? (2 marks)

5
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(b) Suppose Sithandile Gumedze wants the right to sell 100 shares of AAPL for E30 anytime up
until the third Friday in July. How much will it cost her? (2 marks)
(c) (i) Suppose Kwanele Gwebu buys 10 AAPL January 32.50 put contracts. How much does
this cost him (ignoring commissions)? (2 marks)
(i1) Just before the option expires, AAPL is selling for E22.50 per share. Is this good news or bad
news? ' (2 marks)
(iii) What is his net profit? (2 marks)

(Question 4 - Total marks : 19)

End of Paper
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Underlying stock price represents listed exchange price only. it may not match the composite closing price.

source: Reprinted with permission from The Wall Street Journal, Jurie 16, 2004 @ Copyright 2004 by Dow Jones &
Company. All Rights Reserved Woridwide.




